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X,=95,04Y,,=100,00Z,-108.89 B,
%y=0,3127y,=0,3290 10
Ao=(g-2n Y
Bo=(bo ~bo ) Y
g =ago [x/y]
by = bao [2/4]

agp =1, byg=-0,

4
Ao
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Munsell System Y,,=100, D65

00 C=2,V=1,2,5,8&9, D65 T-10
0,0 0,2 0,4 0,6 0,8 1,0 chromaticity diagram (ag, bo)
BE141-1A_1 BE141-2A 1

X,=95,04Y,,~100,00Z,~108,89 B,

X=95,04,Y,=100,00Z,~108,89 B,

Xy=0,3127y,,=0,3290 T10 Xw=0,3127y,,=0,3290 10
Ar=(@ a1 Y Ar=(@-ap Y
Bi=({1-b1 )Y By=( -y ) Y
a) = ayo [(x-0,17D/y] ay = a0 [(x—0,17D/y]
by =byo [ZA =bs0 [(Mpx+bp1)/Y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
mr,=1,000, 1 mp;=-0,169,bp;=0,389 \ 2
n = D65 10 n = D65 _10 ) 10
Munsell System Y,,=100, D65 Munsell System Y,,=100, D65
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,Vv=1,2,5,8&9, D65 -10
chromaticity diagram (a4, by) chromaticity diagram (a,, bo)
BE141-3A_1 BE141-4A 1
X,=95,04Y,=100,007,=108,89 B, X,=95,04,Y,,100,007,~108,89 B,
Xy=0,3127y,,=0,3290 T10 Xw=0,3127y,,=0,3290 10
Az=(az—agy Y Ay=(@g-a4n)Y
B3=(3-b3p) Y By=(by—byp) Y
ag = ay [(x-0,179/y] 4 ay =2y [(x-0,171/y]
b3=byo [(Mp1x+bp1)/y] =50 [(Mp1x+bp1)/Y]
ay0= 1, byo=-0,4 A ay0=1, byy=-0,4 A
Mp=-0,974,bn,=0,658 3 Mp1=-0,169,bp;=0,389 \ M
n = D65 10 n = D65 _10 ) ) 10
5 5
Munsell System Y,,=100, D65 Munsell System Y,,=100, D65
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 -10
chromaticity diagram (as, bs) chromaticity diagram (a4, bs)
BE141-5A_1 BE141-6A_1
X,=95,04Y,,=100,007,7108,89 B, X,=95,04,Y,,=100,00Z,~108,89 B,
X=0,3127y,,=0,3290 210 Xw=0,3127y,,=0,3290 110
As=(@s-asp) Y A= (@5~ a6 Y
Bs= (b5 —bs) Y Bg=(s—bsn) Y
a5 = a [(x-0,172/y] + 3G = ag [X/y] +
bs=byg [(Mp1X+bp1)/y] bg=bao [(Mp1x+0p1)/y]
ay=1, byp=-0,4 A ay=1, byp=-0,4 A
mp;=-0,974,bp,=0,65 S mp;=-0,974,bp,=0,658 6
n = D65 A 10 n = D65 10
Munsell System Y,,=100, D65 Munsell System Y,,=100, D65
C=2,Vv=1,2,5,8&9, D65 T-10 C=2,V=1,2,5,8&9, D65 T-10
chromaticity diagram (as, bs) chromaticity diagram (ag, be)
BE141-7A_1 BE141-8A 1




